

Associated Students, Inc. Funding Request Form

Necessary	Documents:

Event Flyer w/ A.S.I. Logo

CSI Event Reg. Form

T)	Estimates	/	Food	Ρ	ermits

Contact			Organ	ization	Event Es	timates / Invoices
Officer Name:			Club/Orga	anization: Film P	roductions Club	
Officer Title:			Event Title	Golden Eagl	e Film Festival	
Address:			Date(s) of	Event: 05.10.18	Semester	Select One
City/State/Zip:			Location of	of Event: USU TI		
Phone & Email:			Expected	Total Attendance:	1:	50
Officer Signature:	_		Expected	Attendance of Cal	State LA.Students	125
	Event D	Description and				
Briefly describe the	event:		Is the ev	ent open to all Cal	State LA students	?: Select One
d by California boration with F	Film festival is an and State Univeristy, Los ilm Productions Club ad coming student film	s Angeles in colla b. The Festival sh	How will Golder ent film	this program enha n Eagle Film Fe	ance the Cal State estival encourag	LA experience?: es emerging stud n a new and fres
Hospitality		пинишининининин	Hon	noraria/Contr	acts	
UAS Descript	tion 	Amount \$1,998.60	NA	Description		Amount O
Naukatina			Other			
Marketing Descript NA	tion	Amount \$0.00	NA —	Description		Amount O
	Event Summar	У	For C	Office Use Or	nly • Do Not V	Vrite Below
т	otal Cost of Event:	\$2000	Importa	<u>nt:</u>		
	uested from A.S.I.:	\$1,998.60	Frida	Funding Request Fol ay, the week before	the Funding Sub-Co	mmittee Meetings.
Amount fr	rom other sources:	\$2000	than	litionally, funding req 110 business days (2	weeks) prior to the e	vent.
TVFM Departm Angeles funds	sources are you employinent at California Sta GEFF 2018 with a s It on locations, decor	te University, Los sum of \$2000 whi	15 d	ndline for Request for lays after the event. s must have a Tir tial:		se Order (RPP) is
					9 APR 18 PASIC	

VPDATE

STUDENT ORGANIZATION EVENT REGISTRATION FO

This form must be completed 10 business days prior to the event date. Reservations for on campus events will not be confirmed unless this form has been completed. No publicity may be distributed or posted online until this form has been submitted for off campus events or until the reservation confirmation process has been completed for on campus events. Signatures must be completed in blue or block into

committation pro	cess rias peen o	completed for on car	mpus events. Signat	ures must be co	empleted in blue or l	bus events o	r until the
NAME OF ORGANIZATION:	Flor Pro	Carass	PA Williams	PHONE:	SINDIEREC IN DIUE OF		Zana In
EVENT CONTACT NAME:				i NESOTOS A RABANI	441.	BATE:	town 10
NAME OF EVENT:	lou For		A BA	2000年10日 (1992年1993年1993年1993年1993年1993年1993年1993年	MAIL:	en la	
EVENT DATE: Mong	BEGIN TIME:	5 pm E	ND TIME: <i>930</i>	LOCATION:	TED ATTENDANCE:	1134 . 100	Thethe
TYPE OF ACTIVITY (THE UNIV	ERSITY'S GENER	AL DELEASE WILL SE		1.4.91		The f	esto, e
BENEFITS TO PROCEED	EDUCATION	ONAL PROGRAM	SPIRITUAL PR				
DANCE/PARTY	SOCIAL PI		COMMUNITY		RECREATIONAL		and
OTHER:	Festive				CONFERENCE/CO	ONVENTION	Outdo
WILL YOUR EVENT INCLUDE	E ANY OF THE	FOLLOWING? (PLE	EASE CHECK ALL THA	T APPLY)			
SPORTS ACTIVITY OR CO	MPETITION	FOREST/PARK			TERNATIONAL TRAV	/EI /	Paza
BEACH CLEAN-UP BEACH BONFIRE		MDOOR/OUTD	OOR COOKING		DMESTIC TRAVEL		
PLEASE DESCRIBE THE EVEN	NT RELOW (IN)	CLUDE ALL LOSS					(97)
	I DELOW (IN	LUDE ALL ACTIVIT	TES):	M. C. C. P. S. B.	PROGRAMMENT BUT THE LAND CO.		
		12102	TOX7,28	4 75	100 J	R marie	1
			690.2				
		化工业工工程		27	**************************************		
THE ALL TO	arrige	1.5 + 6.6%	males.	5. 多种的	" "		
				1641	t de la company		
NHO IS INVITED (CHECK ALL							
STUDENT ORG. MEMBERS		: TE LA COMMUNITY	100	The state of the s	Secretaria and and an entire entire transfer (1883)	Summit the Fall Control of the Contr	是中国 (1) [2]
the state of the s			/ /		GENERAL PUB	LIC GU	EST LIST
Events intended for the ge weekly email by the Cente	neral Cal State	LA campus will be	listed in the Studen	t Organization	Calendar of Events	distributed in	a hi-
			' L	TON OD 1,001	WISH FOR MY EVEN	IT TO BE POS	TED
VILL THE EVENT HAVE AN A DRGANIZATION? (If yes, pleas	DMISSION CH/	ARGE, REGISTRATIO			to the transfer of the transfe	· · · · · · · · · · · · · · · · · · ·	
	se complete sta	tement regarding pr	oceeds to benefit tr	ansactions on th	ne back of this form)	NO LA	7E = C
VILL A MOVIE BE SHOWN?		S (If yes, please atta				بالم الم	
VILL THE EVENT HAVE SECU				short at Alexandra, in our	10100		
			lease explain		AND PLEASURE OF		PECA OF
WILL FOOD BE SERVED AT T				_			
IF YES, WHO WILL PROVIDE				When	(P	ma Marcha	And
A completed food permi	t is required fo	r all on-campus ever	nts with food unless	the food is pro	vided by University	Catarina	COSI,
VILL ALCOHOL BE PRESENT				THE REAL PROPERTY AND ADDRESS OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS			In and the second
	A THE EVEN	YES.	(This form may take	ompleted requ	est to serve alcohol	ic beverages	i.
WILL THE EVENT BE HELD IN A F	RESTAURANT/VI	ENUE WHERE ALCOHO	OLIS AVAILABLES .	7 1	ks for review and po	ssibie approv	al.)
if so, please af	ffirm organiza	tion members and	guests will not con	NO YES	Initials PLE	ASE LIST 2 TIP	STRAINED
OFF-CAMPUS MEDIA B	E NOTIFIED A	BOUT THE EVENT	NEWSPAPED TV 5	ADIO ETO SE À	A TYPE PL	ASE PROVIDE	E 2.
OES THE STUDENT ORGANIZ						INALLEDON b	AGE 2.
Please be aware that	45 25 24 W-	-	ない ないかい かんし かんなし かまなん しょうかい とれない	1/2.28.m. 2.n. a. 2.2	/~	YES	
the University-Studen Union. purchase Special Even Insurar	Student organizate	zation officers or the	advisor may be held	er insurance by I personally liab	California State Univ	ersity, Los An	geles or
Mistrali	.co to: a particu	nar event, please con	tact CSI.	_	Orga		u like to

5W

STATEMENT REGARDING PROCEEDS TO BENEFIT TRANSACTIONS

As officers of this recognized student organization at Cal State LA, we affirm that all proceeds raised or assets assigned will be used solely for the benefit of the organization as a whole. Further, it is affirmed that no proceeds or assets of this organizations will accrue to the benefit of any officer, member, or any private person. We also affirm that all proceeds transactions for this event will comply with all University policies and procedures including but not limited to ICSUAM Policy 3141.01 and the Cal State LA Student Organization Funds Administration Policy. Describe the admission charge, registration, participation fee, or any proceeds that will be raised to benefit the organization. Please include how much the organization will be charging for any of these proceeds.

Please includ	e now indentitie organization	
		DATE:
	SIGNATURE:	The state of the s
TREASURER:	SIGNATURE:	DATE:
EVENT G	UIDELINES	
The following	guidelines are provided for the benefit of the student organization. They are intended to be followed on The any of the following guidelines may result in disciplinary action taken against the organization includes Exents and use of facilities. More information can be found online in the Student Organization Handboo	k.
CONDUCT:	The organization assumes full responsibility for the conduct of participants at the event. Any violation of Univ the participants and/or the organization to disciplinary action by the Center for Student Involvement or Stud	ent Conduct.
ALCOHOL:	In accordance with Administrative Procedure O19 - Alcoholic Beverages, any event (on or off campus consumption of alcoholic beverages requires authorization from the University. Your organization of submit a Request to Serve Alcoholic Beverages form in addition to this Event Registration Form. Pl 3 weeks for this form to be reviewed by the University. Approved alcohol consumption events and alcohol is available (but will not be consumed) require at least two TiPS certified members to be in entire event. Additional guidelines may be enforced.	ease allow at least events held where attendance of the
PUBLICITY:	All publicity material must have the name of the sponsoring group and the following statement: "The of this organization do not necessarily reflect those of the students, staff, faculty, or administration is stated in the students."	or Carstate LA.
GENERAL RELEASE:	If your event will require the use of general release waivers prior to organization member and guest organization is required to comply with all instructions provided by CSI, including submitting all correquested documents. JRE BELOW INDICATES THAT I WILL TAKE RESPONSIBILITY TO ENSURE THAT THE EVENT WHICH MY ORGANIZED.	inpleted forms and
FOLLOW AL MAY BE SUE	L GUIDELINES SET FORTH BY THE UNIVERSITY. I ACKNOWLEDGE THAT THIS EVENT AND ANY ASSOCIATED BY SUCCESSION OF COMMENTS OF COMMEN	TE:
CENTER COLVERI ASSISTA GOVERN NOTE LOGIC NOTE NOTE NOTE	FOR STUDENTINVOLVEMENT (U-SU-202) FOR STUDENTINVOLVEMENT (U-SU-202) FOR STUDENTINVOLVEMENT (U-SU-202) FOR STUDENTINVOLVEMENT (U-SU-202) FOR STUDENTS WELLNESS & ENGAGEMENT LARGUE ASE REQUIRED FOR ALL PARTICIPANIS? FOR STUDENTS: BLICAFFAIRS DATE FOR STUDENTS: DATE PROPRIETE FOR STUDENTS: FOR S	
ton	ling submission/completion of insciounce pequip	



at 6:00 pm the

University Student Union Theatre & Plazz



for: Event # E32876 on: Thursday, May 10, 2018



Client/Organization Film Productions Club

Event Date 5/10/2018 (Thu) **Booking Contact** City, St/Prov Postal

Los Angeles, CA 90032

Booking Tel

E32876 Guests 100 (Pln)

Event #

Address

5151 State University Drive

Party Name

Sales Rep

Film Productions Club Film Fest

Amanda Tapia

Theme

Category

Venue

Description

Type

Start 5:30 pm End

5:45 pm

Banquet Room Student Union Setup Style Delivery

Food & Beverage

1 000 0 1	2010.ugo			
Food/Service Items	Unit	Price	Total	
**Deliver to USU Theater at				
5:45pm**				
(100) -Disposables	Each	0.50	50.00	
(10) Assorted Tea Sandwiches	Dozen(s)	12.00	120.00	
(3) Vegetable Egg Rolls With Sweet And Sour Sauce	Dozen(s)	18.00	54.00	
(3) Mini Quiche (Assorted)	Dozen(s)	15.00	45.00	
(3) Grilled Beef Skewers With Soy Garlic Sauce	Dozen(s)	24.00	72.00	
(2) Smoked Salmon Canapé With Dill	Dozen(s)	20.00	40.00	
(2) Vegetable Pot Stickers with Sesame ginger Sauce	Dozen(s)	22.00	44.00	
(1) Medium - Caesar Salad with Garlic Croutons (36-74pp)	Bowl(s)	75.00	75.00	
(1) Medium- Israeli Cous Cous	Bowl(s)	75.00	75.00	
(1) Medium- Greek Salad w/ Ranch Dressing	Bowl(s)	90.00	90.00	
(1) Small - Hummus And Pita Chips (15-35pp)	Platter(s)	65.00	65.00	
(1) Small - Salsa Roja With Tortilla Chips (15-35pp)	Platter(s)	55.00	55.00	
(1) Small - Garden Fresh Crudités With Ranch (15-35pp)	Platter(s)	55.00	55.00	
(1) Medium - Cheese and Deli Meat Platter with Crackers(36-74pp)	Platter(s)	85.00	85.00	
(1) Large -Sliced Fruit Platter (75-100pp)	Platter(s)	110.00	110.00	
(2) Dessert Brownies- cut in	Dozen(s)	25.00	50.00	

Authorized Signature & Date:_(Please sign & date all pages)

half			
-Chocolate Fudge			
-Smores			
(3) Assorted Baked Cookies	Dozen(s)	18.00	54.00
(1) Mini Pastries Variety Pack(30 pastries)	Each	65.00	65.00
(3) Chocolate-Dipped Strawberries	Dozen(s)	36.00	108.00
(3) Fresh-Brewed Coffee (Regular)	Gallon(s)	28.00	84.00
(5) Pink Lemonade	Gallon(s)	22.00	110.00
(3) Fruit-Infused Water	Gallon(s)	18.00	54.00
Water Service		``	

0.00	0.00	0.00	0.00	1.560.00
			0.00	1,300.00
0.00	0.00	0.00	0.00	265.20
0.00	0.00	0.00	0.00	173.40
0.00	0.00	0.00	0.00	1,998.60
	0.00	0.00 0.00	0.00 0.00 0.00	0.00 0.00 0.00 0.00

Subtotal	1,560.00 Paid	0.00
Tax	173.40 Balance	1,998.60
Service Charge	265.20	
Total Value	1,998.60	

Banquet Event Order is invalid unless signed and returned along with a check or purchase order to the Golden Eagle Hospitality Office. Missing catering equipment is the responsibility of the Authorized Signee. A 17% Service Fee and 9.5% Sales Tax will be Charged where applicable. 72 Hours Guest Count Confirmation and Cancellation Notice Needed.

Account	#	
Fund	#	
Dept	#	
Program Code	#	
Project ID	.#	
Purchase Order	r #	

Authorized Signature & Date:_ (Please sign & date all pages)